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500
1,000
1,500
2,000
2,500

b b b 222 8 3
b b 3 8 5 286 9 1
b 638 4 4 1 316 9 4
b 714 476 333 9 5

1,250 769 500 3 4 5 9 6

3,000
3,500
4,000
4,500
5,000

1,364 8 1 1 5 1 7 353 91
1,458 843 530 359 9 7
1,538 870 5 4 1 364 9 8
1,607 8 9 1 549 367 9 8
1,667 909 5S6 370 9 8

3756,000 b 1,765 938 566
7,000 b 1,842 959 574
8,000 b 1,905 976 580
9,000 b 1,957 989 584

10,000 5,000 2,000 1,000 5 8 8

9 8
9 9
9 9
9 9
9 9

3 7 8
3 8 1
3 8 3
385

15,000 6,000 2,143 1,034 600 390 99
20,000 6,667 2,222 1,053 606 392 1 0 0
25,000 7,143 2,273 1,064 610 394 1 0 0
50,000 8,333 2,381 1,087 611 397 1 0 0

100,000 9,091 2,439 1,099 6 2 1 3 9 8 1 0 0

--FCC 10,000 2,500 1 , 1 1 1 625 400 1 0 0
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